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1. We have derived that = ± - Hmol R T L ê Hne L lnHQL. What is the value of  when everything is in standard 
states?

= ¶               = 0              = ±               None of these

2. We have derived that = ± - Hmol R T L ê Hne L lnHQL. What is the value of  when everything is at equilibrium?

= ¶               = 0               = ±              None of these

3. We have derived that = ± - Hmol R T L ê Hne L lnHQL. What is the value of  when there are no products 
present?

= ¶               = 0               = ±              None of these

4. We have derived that = ± - Hmol R T L ê Hne L lnHQL. What is the value of  when there are only products 
present?

= ¶               = 0               = ±              None of these

5. At 25 ±C, = ± - H0.06 êneL V logHQL. What is the expression for ± at 25 ±C?

± = H0.06 êneL V logHQL               ± = H0.06 êneL V logHKL               ± =               None of these

6. For A + B V C + D, DG± = -mol R T lnHQL. What is the value of DG± for 2 A + 2 B V 2 C + 2 D?

2 DG±               DG±               DG± ê2               None of these

7. For A + B V C + D, ± = H0.06 ê neL V logHKL. What is the value of ° for 2 A + 2 B V 2 C + 2 D?

2 ±               ±               ± ê2               None of these

8. For A + B V C + D, ± = H0.06 ê neL V logHKL. What is the value of ° when all of the concentrations are doubled?

2 ±               ±               ± ê2               None of these

9. For A + B V C + D, ± = 1.50 V and ne = 2. What is the value K for the process?

K = 10-3               K = 1050               K = 103               None of these

10. For 2 A + 2 B V 2 C + 2 D, ± = 1.50 V and ne = 4. What is the value K for the process?

K = 10100               K = 1050               K = 2 μ 103               None of these

11. For A +  B V  C +  D, ne = 3.  At 25 ±C, ± = 1.50 V and when Q = Q1, = 1 = 2.00 V. This means …



Q1 > K               Q1 = K               Q1 = 1               Q1 < 1

12. For A +  B V  C +  D, ne = 3.  At 25 ±C, ± = 1.50 V and when Q = Q1, = 1 = 2.00 V. When the concentrations of 
C and D are each tripled, Q is now …

3 Q1               9 Q1               HQ1L3               H3 Q1L3

13. For A +  B V  C +  D, ne = 3.  At 25 ±C, ± = 1.50 V and when Q = Q1, = 1 = 2.00 V. When the concentrations of 
C and D are each tripled,  will be …

> 2.00 V               = 2.00 V               < 2.00 V               Not enough information

14. For A +  B V  C +  D, ne = 3.  At 25 ±C, ± = 1.50 V and when Q = Q1, = 1 = 2.00 V. When the concentrations of 
C and D are each tripled,  will be …

1.98 V               1.52 V               1.48 V               None of these
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